A (ERE

IR RERG R VR STEER 7 e 50— K (2)

5 EXBEETA@

, | EEEEE | WO LBiEs—7

ailt

(T 4F BE 5T

H T HE A SRR TR REFH IR

R
EPTEER | BB s i o (L

O2%

eron | SW

T4 EEDKR

FH

@ FHEORMKE (REAE (44 1RH3E) 6 A)

T_XCOEHT O]

@ HEFROFIRIRR
7 FRENE
(1) MaRxFIH
a o BEKBRME AL E KL
(LX2T——XV)
b T~F 2T EERE
% RIMERESEAR
7o PP ER B AL
(LX2T——XV)
T <F o T ERE
() xR
a Ty a—AD—fBEK
b AREZIT ALY —
c fhEREF
X AT SR
o a— A DO—RBR ik
ABTT KNI T —
s R

A FIEER S O FE R
(7)) RO FTERE

71 H

31 H

72 H

34 H

19 H

16 H

196 77 8,991 A

97 75 6,306 A

5, 000 A

} S 20 94 L AR KR DB D Ll Rk o T

3,528 A

} AT oA N ARRIERKE L OBLAN O i % kT

B L= N K D RRARAT . R RN

() ik 1& M U722 R0 72 B

A5 bk oD 4 pE i 55 OO ORI FEPBUIE P R ~D i /)

(N HEFEOFE

o a— AN KB O EEIC L AFEM A Uk oeitE

Q FIRBEDEREE

7ok b A 1 2

ik

e | SRl A

OO | AN

509

O, o
943 fH: 43. 5% 37. 2%

1.5% 0.3%

80. 7%

1.8%

17.5%

(%) EEEENFONRR (FH4FE)

)

ES5) FrE (7)

725
W = O

XA (a) 4{% 9,563 7 0 T

6 1&

1{50,520 54 TH

Fa e BEk 1,216 5 4 TH

Eig ()
0,083 5 4 TH
1,216 15 4 T-H

0 FH

FI R 44 8,346 5 6 T-H

515 8,867 75 0 T

1{80,520 54 TH

= () 4{% 9,563 7 0 T

6 15 0,083 5 4 FH

1{80,520 54 TH

P A 215 8,463 75 0 M

315 1,366 75 4 T

2,903 /5 4 TH

T ~D 2{& 1,100 5 0 TH

215 8,717 75 0 FH

7,617 )70 TH

5| (@) — (b) 0 FH

0TH

0 FH




